Possible Solutions

a) Circle the digital clock that shows the time represented on the analog clock? Explain your
thinking.

The time on the analog The time on the analog
clock is 9:30 because clock is NOT 10:30
the hour hand is pass because the hour hand
the 9 and the minute has not yet passed the

hand is on the 6. That's 10.

half-way between 9 and

10.

b) Circle the analog clock that shows the time represented on the digital clock? Explain your
thinking.

The time on the The time on this
analog clock is NOT analog clock is 2:00

2:00 because the hour
hand is on the 12 and
the minute hand is on
the 2. The hands are
reversed. This clock
shows it is past 12:00.

because the minute
hand is on the 12 and
the hour hand is on
the 2.




